FORM 1	STATEM	IENT OF	2017
Please print or type your name, mailing address, agency name, and position below	FINANCIAL		
LAST NAME FIRST NAME MID	DLE NAME :	K	r CEIVED
MAILING ADDRESS Michael B. Holderne Cedar Hammock Fire Board of Commissio	e Control Dist Iners	<u>711</u>	8 RM 10 25 HER COUNTY HE COUNTY
NAME OF OFFICE OR POSITION I			
NAME OF OFFICE OR POSITION F	IELD OR SOUGHT:		
You are not limited to the space on the	e lines on this form. Attach additional shee		
DISCLOSURE PERIOD: THIS STATEMENT REFLECTS YO		THE PRECEDING TAX YEAR	MPLETED **** R, WHETHER BASED ON A CALENDAR THE PRECEDING TAX YEAR ENDING
CALCULATIONS, OR USING COM	EPORTABLE INTERESTS: ISING REPORTING THRESHOLDS T	ARE USUALLY BASED ON	AN THE CALENDAR YEAR: AR VALUES, WHICH REQUIRES FEWER I PERCENTAGE VALUES (see instructions
•	(PERCENTAGE) THRESHOLDS	· /	AR VALUE THRESHOLDS
	INCOME [Major sources of income to report, write "none" or "n/a")	the reporting person - See inst	ructions]
NAME OF SOURCE OF INCOME	ADD	JRCE'S DRESS	DESCRIPTION OF THE SOURCE'S PRINCIPAL BUSINESS ACTIVITY
SARABAY ROACE	65797K 7333 N	TRAIL	RealEstateSele
•			
	S OF INCOME , and other sources of income to busines report, write "none" or "n/a")	sses owned by the reporting pe	erson - See instructions]
NAME OF BUSINESS ENTITY	NAME OF MAJOR SOURCES OF BUSINESS' INCOME	ADDRESS OF SOURCE	PRINCIPAL BUSINESS ACTIVITY OF SOURCE
STATE PEAL PROPERTY (Lond	to the reporting person	One instructional	
(If you have nothing to re	, buildings owned by the reporting personeport, write "none" or "n/a")	n - See Instructionsj	FILING INSTRUCTIONS for when and where to file this form are located at the bottom of page 2.
See attrached			INSTRUCTIONS on who must file this form and how to fill it out
			begin on page 3.

PART D — INTANGIBLE PERSONAL PRO TY [Stocks, bonds, certificate (If you have nothing to report, write "none" or "n/a")					
TYPE OF INTANGIBLE	BUSINESS ENTITY TO WHICH THE PROPERTY RELATES				
Dee attached					
PART E — LIABILITIES [Major debts - See instructions] (If you have nothing to report, write "none" or "n/a")					
NAME OF CREDITOR	ADDRESS OF CREDITOR				
0					
	ns in certain types of businesses - See instructions] SS ENTITY # 1 Peel Estate				
7220	mari				
ADDRESS OF BUSINESS ENTITY 7333 N.	Jille 1.				
PRINCIPAL BUSINESS ACTIVITY Sales					
POSITION HELD WITH ENTITY PLEUDE POSITION HELD WITH ENTITY	0.				
I OWN MORE THAN A 5% INTEREST IN THE BUSINESS YES 160	76				
NATURE OF MY OWNERSHIP INTEREST					
PART G — TRAINING For elected municipal officers required to complete annual ethics training pu I CERTIFY THAT I HAVE COMPL	rsuant to section 112.3142, F.S. ETED THE REQUIRED TRAINING.				
IF ANY OF PARTS A THROUGH G ARE CONTINUED OF	A SEPARATE SHEET, PLEASE CHECK HERE				
SIGNATURE OF FILER: Signature: Date Signed: 6-3-18	CPA or ATTORNEY SIGNATURE ONLY If a certified public accountant licensed under Chapter 473, or attorney in good standing with the Florida Bar prepared this form for you, he or she must complete the following statement: I,, prepared the CE Form 1 in accordance with Section 112.3145, Florida Statutes, and the instructions to the form. Upon my reasonable knowledge and belief, the disclosure herein is true and correct. CPA/Attorney Signature: Date Signed:				
FILING INSTRUCTIONS:					
	W. J. J. Ch. Ch. Ch. Ch. Character and the state of the decire Character and				

If you were mailed the form by the Commission on Ethics or a County Supervisor of Elections for your annual disclosure filing, return the form to that location. To determine what category your position falls under, see page 3 of instructions.

Local officers/employees file with the Supervisor of Elections of the county in which they permanently reside. (If you do not permanently reside in Florida, file with the Supervisor of the county where your agency has its headquarters.) Form 1 filers who file with the Supervisor of Elections may file by mail or email. Contact your Supervisor of Elections for the mailing address or email address to use. Do not email your form to the Commission on Ethics, it will be returned.

State officers or specified state employees who file with the Commission on Ethics may file by mail or email. To file by mail, send the completed form to P.O. Drawer 15709, Tallahassee, FL 32317-5709; physical address: 325 John Knox Rd, Bldg E, Ste 200, Tallahassee, FL 32303. To file with the Commission by email, scan your completed form and any attachments as a pdf (do not use any other format) and send it to CEForm1@leg.state.fl.us. Do not file by both mail and email. Choose only one filing method. Form 6s will not be accepted via email.

Candidates file this form together with their filing papers.

MULTIPLE FILING UNNECESSARY: A candidate who files a Form 1 with a qualifying officer is not required to file with the Commission or Supervisor of Elections.

WHEN TO FILE: *Initially*, each local officer/employee, state officer, and specified state employee must file *within 30 days* of the date of his or her appointment or of the beginning of employment. Appointees who must be confirmed by the Senate must file prior to confirmation, even if that is less than 30 days from the date of their appointment.

Candidates must file at the same time they file their qualifying papers.

Thereafter, file by July 1 following each calendar year in which they hold their positions.

Finally, file a final disclosure form (Form 1F) within 60 days of leaving office or employment. Filing a CE Form 1F (Final Statement of Financial Interests) does <u>not</u> relieve the filer of filing a CE Form 1 if the filer was in his or her position on December 31, 2017.

RECEIVED

MICHAEL HOLT			7/2		th the	7-15-45	34243	ent Date <u>za lez</u>	- Z -	18	
rees359_9_P(No. of Dep					SALE			Bus, Phone	355	-769	7
t runo						BEFORE Secti	on I	AE OF CHILA			
	HOIE	Comp		- C		DEFUNE SOCI	<u> </u>		OHS		
				SECT	ION I						
ASSETS		THOU- SANDS	HUN- DREDS	CENTS		LIA	BILITIES		THOU-	DREDG	Œ
1 Cash On Hand & In Banks	· Sec. II-A	860	<u> </u>		21 N	Notes Due to Banks		Sec. II-A			_
2 Cash Value of Life Insurance	Sec. II-B	70	<u></u>			Votes Due to Fletative		Sec. II-H			⊢
3 U.S. Gov. Securities	Sec. II-C					Notes Due to Others		Sec. II-H	ļ		├-
4 Other Marketable Securities	Sec. II-C		ļ			Accounts & Bills Pay		Sec. II-H			┝
5 Notes & Accounts Receivable - Good	Sec. 11-D	 	 			Inpaid Income Taxe		eral State		<u> </u>	⊢
6 Other Assets Readily Convertible to Cast	h - Nemize	100	 			Other Unpeid Texes		0 4 0		<u> </u>	┝
7 TWO MTGS		650	ļ			oens on Life Insurar		Sec. II-B Sec. II-H			┝
• — — —		800	 			Contract Accounts Pr Cash Flent Owed	ауале	360. 11-11			┝
	30511555	Abc	1	-		Other Liabilities Due	within 1 Vore - No	omiso			H
1 Real Estate Owned	Sec. II-E				31	JOHN COLUMNS DUC	WHEN ! ! 1041 - 22	AIRLO			H
2 Mortgages & Contracts Owned	Sec. II-F	19000			32		· · · · · · · · · · · · · · · · · · ·				一
3 Notes & Accounts Receivable - Doubtful		1	 		33	TOTAL CUE	RENT LIABILITIE	S			Η
4 Notes Due From Relatives & Friends	Sec. II-D	1	 			Real Estate Mortgage		Sec. N-E			r
5 Other Securities - Not Readily Marketable						iens & Assessments					Г
6 Personal Property	Sec. #-G					Other Debts - Itemize					Γ
	TOPA BYS	60			37						Г
B BOAT		30	<u> </u>			Total Liabilities		:	· .		Γ
19 A CARS		250				Vet Worth (Total Ass	ets minus Total i.	lebillies)	0		Γ
O TOTAL ASSETS .		8280				TOTAL LIABILITIES			828		Γ
		- برعب	-				•				
ANNUAL I	NCOME					. EST	TIMATE OF ANN	WAL EXPENSES			
Salary, Bonuses & Commissions	\$				Income	Taxes		\$			
Dividends & Interest	\$				Other 7	Taxes		\$			
Rental & Lease Income (Net)	\$					nce Premiums		\$.	· ·		
Allmony, child support, or separate mainly you do not wish to have it considered as	lenance income n a basis for repayi	eea not s ng this oi	e reven bligation	L ROW	_	ge Payments		\$ `			
Other Income-Remize	\$	-bassa			Rent P		·····	<u> </u>			_
Provide the following information only if Joint		auove.			Other E	Expenses		\$			
Other Persons Salary, Bonuses & Commissi Allmony, child support, or separate main											_
Amony, crisic support, or superate main if you do not wish to have it considered a Other Income of Other Person—Itemize	is a basis for repa	ying this	obligati	on.				<u> </u>			-
		·			7074			<u> </u>			
TOTAL	\$				TOTAL	<u> </u>					_
CENTRAL IN	FORMATION				<u> </u>		CONTINGEN	T LIABILITIES			
	s (See Section II)				As End	dorser, Co-maker or		\$			_
Are you a Defendant in any Suits or Legal A		Yes	<u> </u>			ases or Contracts		\$			
(Explain):	<u> </u>				Legal (s			
Have you ever been declared Bankrupt in th	e last 10 years?	□No.	Yes			al - State Income Tax	xes	\$			
(Explain):					Other-		1	\$			
			5	ECT	ON II						
CASH IN BANKS AND NOTE	S DUE TO B	ANKS				etate Loens in Se	ction II-E)				_
NAME OF BANK	Type of Account	Type of O	dupped	On	Deposit ,	Notes Due Benks	. cqu	ATERAL (V Any) & T	ype of Own	ership	
			****	\$		\$					
		•	• 1								
1											
											_

								OTALS 1	······································			\$					1			
C :	SECUF	शा	ES C	W	NED	(Inclu	ding U.S	. Gov't	(Exic	r Sec. 11. is and	m 2) all oth	(Sder Se or Stocks (e, 1 th	n 27) Bonds)					
Face No. of	Value -Bon Shares Str	de ock	Indic	ato th	DESCRIPTION NOT PROJECT	ON red in Y	our Name		Type Owner	of ship		COST	,	Mortest \ J.S. Gov	/alue . Sec.	Merket V Merketabi	e Sec.	MARKET V Not Readily M SECURIT	ALUE Hetable TES	Amount Pledged to Secured Loans
		7				7		Ξ-			ļ		L							\$
		+	N .	N		<u>"</u>		+			┨—		╀							<u> </u>
		+	H	f-1.	7,-			┪			T		十							
		1											1							
					·			┩—			 		╀-							
 -				<u> </u>							<u></u>	TOTALS	5		-					
								_			•		(6	der Sec. 1	Line 3)	and Sec. 1	•	Enter Sec. 1		J
D I					OUNTS R	ECE						Owed to Yo Balance Due	_		ally-Indica ance Due		W IF ON			ship interest)
			RVDEB		7		When E	XXX		and Armou	ant	Good Accoun			al Accounts		& Friends		SECURI	TY (If Any)
			7			╀		-	6	<u>50</u>	- \$		_	\$	·	\$	·			
	R	0 4	<u> </u>	250	v	├┼		\dashv		70						┼		 		
					·····	╁┼					+		\dashv			 		+		
										TOT	us s		一	\$		\$				
E I	REAL I	EST	ATE	OV	VNED	(Inc	iicate by	a / F 0	then	have	an Ow	(Enter Sec. 1 Lie merahip int	e 5)	(Exter	Sec. 1 Line 13)	(Enter :	iec. 1 Line	14)		
	TLE IN NA			اروا	Description			Date Acquire	1	Original Cost	Pa	esent Velue Real Estate	T	Amoun				SAGE OR CON		
				╟		E	The same	Acdimen	-	1,000	-		 	NR. CE		Sel. Due	Payme	nt Maturity	 	Whom Payable
Homes	eed-			H	17. X	~			+		*		\$						┼	
				H	1×				十				\vdash		-+				┼──	
				\Box					十		1		T							
					•					TOTAL			J		TOTAL \$	Sec. 1 Line				
F I	ORTO	ìAG	ES A	ANI	CONTR	ACT	S OWN	IED ·		(Ind	•	rac. 1 Lim 11) Warl (O		have :	•		•	•		
Cont.	Mige.	~				AKER		iress				RTY COVERE			leating Date	1	ment	Moturity	T	Balance Due
	1	+				╈		2035						-		\$			5	
	1	H			2	十								+		1			 	
			_													·				
						\perp												·	↓	
G	PERSC	NA	L PE	ROF	PERTY	An	dicate la	¥ (Other	e have	an Ov	vnership kri	lere:	d)				TOTALS		alor Sec. 1 Line 12)
					SCRIPTION				T.,	1	Date en New		et New	_	Value			LOANS ON	PROPER	ΠY
		_						·	+		en New		Now		Today		lence Du	•	To Who	a Payable
Automo	blice-	4	4	A	AT				╁	├		- \$		- \$		- \$				
	· · · · · · · · · · · · · · · · · · ·			ىر	17 1				+	 			-	+				1		
					4-75				十	1		1								
ш 1	NOTES		m	- the	n Bank, Mor		and bas			- 1 o		AC	TOT	AL S	S AND	BILLS	AND	CONTRA	CTS I	PAYABLE
<u></u>	PAY			- 47	Other Ob		1	nen Due		Noise D Rel. & F		Notes Di			Accounts Pays			rifracts hymbio		ATERAL (II Any)
			0	_					3			-					ļ			
		/													<u> </u>		<u> </u>			·
					_i	.			1			 			 		 -			
For the	purpose of	proc	ning)ca	Δ.	on time to time,	Wes	mish the k	TOTAL		or Sec. 1	Line 22) curate	(Enter So	e 1 Li Wour	ne 23) Smancis	Enter Sec.	i Line 24) Milhorizatio	Enter Si	by given to the	Lender to	verlly in any manner tion

	HOLDERNESS REAL ESTATE	16/6/18
and if the research is the second and an extreme and general and extremely and extremely desired and extremely		
1105	Commence	4-50,000
	N. TRAIL	4-00,000
1304	MAGELLAN	180,000
918	DE LEO	190,000
2006	YALE	180,000
2408	HOLYOKE	175,000-
2316	HOLYOKE	170,000
2007	HARVARD	170,000
1806	HARVARD	170,000
1105	DARTMOUTH	170,000
AVE F"	ISLAND BEACH CLUB	500,000
7138	215T 5T. E.	150,000
an angles and a supply delighbor and by his arm who should		opene and the later transport to the control of the later
الموادية المحادث المحا المحادث المحادث		annak gapat garat (ku utku tepanamuntangan pang), san at upap an angan ayu ayu ayin salabah su tahun urun urun 1970 - 197
7126	WESTMONELAND DR	පිටල ඉත
general construction and such a specific field of the contract and the con		
a i narawayan na na ara ana ana ana ana ana ana ana		managamenter elleretatetat landa an eleretate de land antidas como republican est the case of the case
بالمستعدد والمستعدد	The state of the s	
and grave the second		
		See and stopm as the spiritual to American the spiritual and spiritual and an artist and a second stop
en e	ر می بر می	
	Ju ni	en la companya de la companya del companya de la companya del companya de la companya del la companya de la com

Prepared for: Michael B Holderness

Holderness Mike Judy

As of: 11/7/17

Core Accounts

Michael B Holderness

2018 JUN 8 65 10 25 Account Name: DEAWM TRUST COMPANY CUST FOR THE ROTH IRA OF MICHAEL B HOLDERNESS 7126 WESTMORELAND DR SARASOTA FL 34243-1433

Account Number:

Account Type: Roth IRA - Minor

RECEIVED

SSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
DEUTSCHE S&P 500 INDEX FUND CLASS C	SXPCX	US STOCKS	DEUTSCHE ASSET & WEALTH MGMT	6,410.43	30.62	196,287.40

Account Total:

\$196,287.40

Account Name: JUDITH R JUDITH HOLDERNESS REV TRUST 7126 WESTMORELAND DR SARASOTA FL 342431433

Account Number: Account Type: Non-Qualified

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
DREY INVMTSMCAPSTKINDX SVC		US STOCKS	NATIONWIDE	1,315.12	43.43	57,122.06
DREY VIF APP SVC		US STOCKS	NATIONWIDE	1,942.52	27.66	53,722.04
FNKLNTVIPTFNKLNSMCPVALVIP2		US STOCKS	NATIONWIDE	1,433.93	40.68	58,327.36
MFS VIT VAL SER SVC		US STOCKS	NATIONWIDE	1,543.82	34.03	52,542.38
NW AMCENTNVITMULTCAPVAL II		US STOCKS	NATIONWIDE	2,006.18	25.59	51,344.89
NW NVIT GOV MNY MKT I		CASH	NATIONWIDE	4,231.71	9.41	39,825.90
NW NVIT MDCAP INDX I		US STOCKS	NATIONWIDE	1,310.06	42.80	56,068.50
NW NVIT MULTMGRSMCAPVAL II		US STOCKS	NATIONWIDE	2,810.15	40.45	113,664.94
OPP MN ST SMCAP VA SVC		US STOCKS	NATIONWIDE	1,333.86	42.16	56,237.04
				Account Total:		\$538,855.10

Account Name: MICHAEL B HOLDERNESS 7126 WESTMORELAND DR SARASOTA FL 342431433

Account Number:

Account Type: IRA (Regular)

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
AB VPS SMMDCAP VAL B		US STOCKS	NATIONWIDE	474.70	42.35	20,101.96

A This report may include assets that the firm does not hold and which are not included on the firm's books and records.

Prepared by: KENNETH C METTE CLU CFS AAMS Lincoln Financial Securities Corp.

Holderness Mike Judy

Prepared for: Michael B Holdemess

As of: 11/7/17

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
AMCENT VP MDCAP VAL II		US STOCKS	NATIONWIDE	665.16	29.13	19,376.58
DREY INVMTSMCAPSTKINDX SVC		US STOCKS	NATIONWIDE	451.46	43.43	19,608.92
FNKLNTVIPTFNKLNSMCPVALVIP2		US STOCKS	NATIONWIDE	475.56	40.68	19,344.20
MFS VIT VAL SER SVC		US STOCKS	NATIONWIDE	511.92	34.03	17,422.83
W AMCENTNVITMULTCAPVAL II		US STOCKS	NATIONWIDE	1,303.87	25.59	33,370.41
NW NVIT MDCAP INDX I		US STOCKS	NATIONWIDE	472.23	42.80	20,210.75
NW NVIT S P 500 INDX II		US STOCKS	NATIONWIDE	1,020.75	16.45	16,795.67
OPP MN ST SMCAP VA SVC		US STOCKS	NATIONWIDE	469.31	42.16	19,786.60
		Water transfer to the same of		Account Total:		\$186,017.92

Account Name: MICHAEL B HOLDERNESS 7126 WESTMORELAND DR SARASOTA FL 34243

Account Number:

Account Type: IRA-Rollover Accountfrom Another IRA

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
5 YEAR FIXED PERIOD ACCOUNT		OTHER	ALLIANZ LIFE	15,783.61	1.00	15,783.61
AZL S&P 500 INDEX FUND CL 2		US STOCKS	ALLIANZ LIFE	785.85	17.75	13,952.26
AZL SMALL CAP STOCK INDEX FUND CL 2		US STOCKS	ALLIANZ LIFE	489.47	19.87	9,726.93
				Account Total:		\$39,462.80

CCOUNT Name: MICHAEL B HOLDERNESS & JUDITH HOLDERNESS JTWROS SUBJECT TO DST TOD RULES 7126 WESTMORELAND DR SARASOTA FL 34243-1433

Account Number:

Account Type: Tran On Death/Pay On Death

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
INVENTRUST PPTYS CORP COM		US STOCKS	INVENTRUST PROPERTIES CORP.	18,298.29	3.29	60,201.38

Account Total:

\$60,201.38

Account Name: MICHAEL B HOLDERNESS TTEE FBO MICHAEL B HOLDERNESS REVOCABLE TR U/A 06/19/1997 7126 WESTMORELAND DR SARASOTA FL 34243-1433

Account Number:

Account Type: Trusts

Prepared by: KENNETH C METTE CLU CFS AAMS Lincoln Financial Securities Corp.

Created on: 11/8/17

Incomplete if presented without accompanying disclosure pages

A This report may include assets that the firm does not hold and which are not included on the firm's books and records.

Holderness Mike Judy

Prepared for: Michael B Holderness

As of: 11/7/17

\$23,858.81

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
DEUTSCHE S&P 500 INDEX FUND CLASS C	SXPCX	US STOCKS	DEUTSCHE ASSET & WEALTH MGMT	2,413.96	30.62	73,915.30

Account Total: \$73,915.30

Account Name: MICHAEL B HOLDERNESS TTEE MICHAEL B HOLDERNESS REV TR DTD 06/19/1997 7126 WESTMORELAND DR SARASOTA FL 34243-1433

Account Number:

count Type: Trusts

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
INVENTRUST PPTYS CORP COM		US STOCKS	INVENTRUST PROPERTIES CORP.	7,251.92	3.29	23,858.81

Account Total:

Account Name: MICHAEL B HOLDERNESS TTEE MICHAEL B HOLDERNESS REV TRUST DTD 06/19/97 FBO MICHAEL B HOLDERNESS 7126 WESTMORELAND DR SARASOTA

FL 34243-1433

Account Number:

Account Type: Trusts

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
FIDELITY ADV CONSUMER STAPLES CL C	FDCGX	US STOCKS	FIDELITY ADVISOR FUNDS	778.08	89.04	69,280.15
FIDELITY ADV EQUITY INCOME C	FEICX	us stocks	FIDELITY ADVISOR FUNDS	2,490.93	34.21	85,214.75
FIDELITY ADV INDUSTRIALS C	FCLCX	US STOCKS	FIDELITY ADVISOR FUNDS	4,883.95	36.86	180,022.32
FIDELITY ADV LEVERAGED CO STK C	FLSCX	US STOCKS	FIDELITY ADVISOR FUNDS	4,772.07	40.15	191,598.49
FIDELITY ADV NEW INSIGHTS C	FNICX	US STOCKS	FIDELITY ADVISOR FUNDS	6,081.89	29.13	177,165.54
				Assessed Tabala		£702.004.00°

Account Total: \$703,281.26

Account Name: MICHAEL HOLDERNESS JUDY HOLDERNESS TOD ON FILE 7126 WESTMORELAND DR SARASOTA FL 34243

Account Number:

Account Type: Transfer On Death-Joint Wrs

ASSET TICKER ASSETTYPE MGT. NAME QUANTITY PRICE (\$) VALUE (\$)

Prepared by: KENNETH C METTE CLU CFS AAMS Lincoln Financial Securities Corp.

A This report may include assets that the firm does not hold and which are not included on the firm's books and records.

Holderness Mike Judy

Prepared for: Michael B Holderness

Account Total:

Account Total:

As of: 11/7/17

\$20,046.88

\$63,643.11

JOHNSON & JOHNSON COM JNJ PIMCO INCOME C PONC	US STOCI EX BONDS	PIMCO FUNDS - RETAIL	400.00 2,657.03	139.77 12.45	55,908.00 33,079.96
JOHNSON & JOHNSON COM JNJ	US STOC	KS	400.00	139.77	55,908.00
FIDELITY GOVERNMENT MONEY MARKET FUND SPAX	X BONDS	FIDELITY ADVISOR FUNDS	2,876.46	1.00	2,876.46
ASSET TICKEI	R ASSET TYP	E MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)

count Name: MICHAEL HOLDERNESS TR UA JUN 19 1997 MICHAEL B HOLDERNESS REV TRUST 7126 WESTMORELAND DR SARASOTA FL 34243-1433

Account Number:

Account Type: Trusts

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
OPP SR FLOATING RATE	OOSAX	BONDS	OPPENHEIMER FUNDS	2,471.87	8.11	20,046.88

Account Name: MICHAEL HOLDERNESS TTEE MICHAEL B HOLDERNESS REV TRUST U/A DTD 06/19/1997 7126 WESTMORELAND DR SARASOTA FL 34243-1433

Account Number:

Account Type: Trust(underagreement)

VALUE (\$) PRICE (\$) ASSET **TICKER** ASSET TYPE MGT. NAME QUANTITY MFS INVESTMENT 1,599.88 39.78 63,643.11 MFS VALUE FUND C **MEICX US STOCKS**

MANAGEMENT

ccount Name: MIKE HOLDERNESS 7126 WESTMORELAND DR SARASOTA FL 34243

Account Number:

Account Type: IRA-Rollover Accountfrom Another IRA

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
4 YEAR FIXED PERIOD ACCOUNT		OTHER	ALLIANZ LIFE	1,848.06	1.00	1,848.06
5 YEAR FIXED PERIOD ACCOUNT		OTHER	ALLIANZ LIFE	2,364.87	1.00	2,364.87
AZL MID CAP INDEX FUND CL 2		US STOCKS	ALLIANZ LIFE	109.24	20.83	2,275.31
AZL S&P 500 INDEX FUND CL 2		US STOCKS	ALLIANZ LIFE	193.07	17.75	3,427.86
				Account Total:		\$9,916.10

A This report may include assets that the firm does not hold and which are not included on the firm's books and records.

Prepared by: KENNETH C METTE CLU CFS AAMS Lincoln Financial Securities Corp.

Holderness Mike Judy

Prepared for: Michael B Holdemess

As of: 11/7/17

Account Name: MIKE HOLDERNESS 7126 WESTMORELAND DR SARASOTA FL 34243

Account Number:

Account Type: Individual

			Michael	B Holderness Total:		\$2,034,555.02
				Account Total:		\$27,204.54
AZL S&P 500 INDEX FUND CL 2		US STOCKS	ALLIANZ LIFE	542.58	17.75	9,633.29
AZL MID CAP INDEX FUND CL 2		US STOCKS	ALLIANZ LIFE	303.48	20.83	6,321.20
YEAR FIXED PERIOD ACCOUNT		OTHER	ALLIANZ LIFE	8,932.13	1.00	8,932.13
4 YEAR FIXED PERIOD ACCOUNT		OTHER	ALLIANZ LIFE	2,317.92	1.00	2,317.92
ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)

Judith Holderness

Account Name: JUDITH HOLDERNESS TR UA JUN 19 1997 JUDITH HOLDERNESS REV TRUST 7126 WESTMORELAND DR SARASOTA FL 34243-1433

Account Number:

Account Type: Trusts

				Account Total:		\$21,178,19
OPP SR FLOATING RATE	OOSAX	BONDS	OPPENHEIMER FUNDS	2,611.37	8.11	21,178.19
ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)

Account Name: JUDITH HOLDERNESS TR UA JUN 19 1997 JUDITH HOLDERNESS REV TRUST 7126 WESTMORELAND DR SARASOTA FL 34243-1433

ccount Number:

Account Type: Trusts

ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)
OPPENHEIMER SENIOR FLOATING RATE FUND	ooscx	BONDS	OPPENHEIMER FUNDS	3,716.93	8.12	30,181.43
				Account Total:		\$30,181.43
			Judith Holderness Total:			\$51,359.62

Prepared by: KENNETH C METTE CLU CFS AAMS Lincoln Financial Securities Corp.

A This report may include assets that the firm does not hold and which are not included on the firm's books and records.

Holderness Mike Judy

As of: 11/7/17

Judith Holderness

Account Name: JUDITH HOLDERNESS REV TRUST DATED 06/19/1997 C/O MICHAEL B HOLDERNESS 7126 WESTMORELAND DR SARASOTA FL 34243

Account Number:

Account Type: Trusts

			Juc	dith Holderness Total:		\$38,975.44
				Account Total:		\$38,975.44
AZL SMALL CAP STOCK INDEX FUND CL 2		US STOCKS	ALLIANZ LIFE	538.94	19.87	10,709.99
AZL S&P 500 INDEX FUND CL 2		US STOCKS	ALLIANZ LIFE	886.23	17.75	15,734.48
ZL GOVERNMENT MONEY MARKET FUND		CASH	ALLIANZ LIFE	1,259.03	9.95	12,530.98
ASSET	TICKER	ASSET TYPE	MGT. NAME	QUANTITY	PRICE (\$)	VALUE (\$)



Prepared by: KENNETH C METTE CLU CFS AAMS Lincoln Financial Securities Corp.

^A This report may include assets that the firm does not hold and which are not included on the firm's books and records.